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Shift-1
(Reasoning)
QID : 1-Inthefollowing question, select the related word from the given alternatives.
Smoke : Pollution: : Fire: ?
Options:
1) Death
2) Sound
3) Ash
4) Cold
Correct Answer: Ash
QID : 2- Inthefollowing question, select the related word pair from the given alternatives.
Players: Team::?:?
Options:
1) Car : Group
2) Ship : Fleet
3) Airplane: Fligh
4) Pen : Heap

Correct Answer: Ship : Fleet
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QID : 3-Inthefollowing question, select the related letters from the given alternatives.
GLOR:FILN:: TWQK :?

Options.

1) SUNG

2) SUMG

3) SUGN

4) SUGM
Correct Answer: SUNG

QID : 4 - Inthefollowing question, select the related letters from the given alternatives
GHI :DFH::LMN: ?

Options.

1) IMK

2) LM

3) ILM

4) IKM
Correct Answer: IKM

QID : 5- Inthefollowing question, select the related number from the given alternatives.
8:512::6:

Options.
1) 216

2) 312
3) 408

4) 512
Correct Answer: 216

QID : 6 - Inthefollowing question, select the related number from the given alternatives.
122:145::226: 7

Options.
1) 255
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2) 256
3) 257

4) 259
Correct Answer: 257

QID : 7- Inthefollowing question, select the odd word from the given alternatives.

Options.
1) Skin

2) Lungs

3) Heart

4) Kidneys

Correct Answer: Skin

QID : 8- Inthefollowing question, select the odd word pair from the given alternatives.
Options.

1) Ink : Inkpot

2) Bottle : Wine

3) Tea: Cup

4) Water : Jug

Correct Answer: Bottle : Wine

QID : 9- Inthefollowing question, select the odd letters from the given alternatives.
Options.

1) GIM

2) PSV

3) MPR

4) KNQ
Correct Answer: MPR

QID : 10- Inthe following question, select the odd letters from the given alternatives.

Options.
D MT
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2) CJ
3) Sz

4) FN
Correct Answer: FN

QID : 11 - Inthe following question, select the odd number pair from the given alternatives.

Options.
1)11-44

2)12-72

3) 13-52

4) 14-48

Correct Answer: 14 —48

QID : 12 - Inthe following question, select the odd number pair from the given alternatives.

Options.
1)5-30

2)12-84
3) 11-66

4) 8-48
Correct Answer: 12 -84

QID : 13- Arrange the given words in the sequence in which they occur in the dictionary.
1. Rangle

2. Regal

3. Royd

4. Room

5. Rested

Options.
1) 15432

2) 45312

3) 12543
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4) 13542
Correct Answer: 12543

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Soul
2. Strain

3. Syrup

4. Sand

5. Strained

Options.

1) 41253

2) 42153

3) 54312

4) 45312

Correct Answer: 41253

QID : 15- A seriesis given with one term missing. Select the correct alternative from the given
ones that will complete the series.
GD, DI, AP, XY, ?

Options.

1) UH

2) 1U

3) ST

4) UJ

Correct Answer: UJ

QID : 16 - A seriesisgiven with one term missing. Select the correct alternative from the given
ones that will complete the series.

WVU, TSR, QPO, ?

Options.
1) NML

2) LMN

3) LMK

COURTESY : SSC


https://sscportal.in/
https://sscportal.in/

4) KLM
Correct Answer: NML

QID : 17 - Inthe following question, select the missing number from the given series.
1,1,34,509716,9, 25,11, ?

Options.
1) 17

2) 36
3) 49

4) 37
Correct Answer: 36

QID : 18 - Inthe following question, select the missing number from the given series.
?,5, 15, 45,113

Options.
D1

2) 2
3)3

4) 4
Correct Answer: 3

QID : 19- 6 people are sitting in arow. A is sitting towards immediate left of B and immediate
right of C. Cissitting to immediate right of F. D isimmediate right of E who isto the left of F,
then which two people are sitting in the center?

Options.
1)Dand B

2) Aand B
3)Fand C
4)Eand D

Correct Answer: Fand C
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QID : 20 - Sunil's position from the left in arow of boys is 20th and Deepak's position from the
right is 36th. After interchanging their position, Sunil becomes 28thfrom the left. How many
boys are there in the row?

Options.
1) 52

2) 63
3) 59

4) 48
Correct Answer: 63

QID : 21 - Vikram started from point R and walked straight 7 km west, then turned left and
walked 2 km and again turned left and walked straight 4 km. In which direction is he from R?

Options.
1) North-East

2) South-West
3) South-East
4) North-West
Correct Answer: South-West

QID : 22 - In the following question, select the word which cannot be formed using the letters of
the given word.

Liberation

Options.
1) Ratio

2) Aion
3) Bear

4) Libera
Correct Answer: Liberal

QID : 23 - Inthe following question, select the word which cannot be formed using the letters of
the given word.
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Deliberate

Options.
1) Dilate

2) Tail
3) Betray

4) Elated
Correct Answer: Betray

QID : 24 - In acertain code language, "SATURN" iswritten as"JVOQXWW" and "URANUS" is
written as"OYJENY". How is"JUITER" written in that code language?

Options.
1) NIPMQN

2) NIPMYF
3) NQMPIN

4) FYLMPI
Correct Answer: NIPMQN

QID : 25- Inacertain code language, "CAGES" iswritten as"NADYB" and "SILVER" is
written as"LZRIGR". How is"WATER" written in that code language?

Options.
1) MAQYV

2) SGWEB
3) QCPVR

4) VY QAM
Correct Answer: MAQYV

QID : 26 - If "B" denotes "multiplied by", "C" denotes "subtracted from", "A" denotes "added
to" and "D" denotes "divided by", then which of the following equation is true?

Options.
1)24D12B3A12=18

2)36D6B3A2=74
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3)42A7B2D2=35

4)56D14B2C4=12
Correct Answer: 24D 12B3A 12=18

QID : 27 - If "-" denotes "divided by", "+" denotes "subtracted from", "x" denotes "added to"
and "+" denotes "multiplied by", then

4+16%x5+4-2=7

Options.

12

2) 43

3) 22

4) 67

Correct Answer: 67

QID:28-1f38#49=24and 96 #51=21,then 87 #78="?

Options.

1) 26

2) 21

3) 28

4) 30

Correct Answer: 30

QID:29-1f27*4=77and 31 * 9=239,then21* 6="7

Options.

1) 94

2) 107

3) 9

4) 106

Correct Answer: 99
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QID:30-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

i@ ux & v or feear & @ uw Ree

(?) & FUE UT A arell W&AT & AT

8

a

7

9

8

12 3
4 2
Options:
1)1
2)2
3) 4
4) 12

Correct Answer: 2
QD:31-

Options:

1) 12

2) 24

3) 26

4) 29
Correct Answer: 29

3
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QID: 32-
How many triangles are there in the given figure?

& g 3 feeet gt ¥7

,.-"I

3 FAY
\ /\/

o R

Options:
1) 6

2)7
3)8

4) 10
Correct Answer: 7

QID : 33-
Options:
1) 10

2) 11

3) 12

4) 14

Correct Answer: 11

QID : 34 - In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
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commonly known facts, read al the conclusions and then decide which of the given conclusion

logically follows the given statements.

Statements:
I. No cups are plate.
[1. All plates are spoons.

Conclusions:

|. Some cups are spoons.

I1. Some spoons are plates.
[11. Some plates are spoons.

Options.
1) Only conclusion (I1) follows

2) Only conclusion (111) follows
3) Only conclusion (1) and (I11) follow

4) Only conclusion (11) and (111) follow

Correct Answer: Only conclusion (11) and (111) follow

QID : 35 - Ineach of the following gquestion below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read al the conclusions and then decide which of the given conclusion

logically follows the given statements.

Statements:

I. All men are hardworking.

I1. No advocate is hardworking.
[11. Some beautiful are men.

Conclusions:

|. Some beautiful are hardworking.
I1. Some advocates are not beautiful.
[11. Some beautiful are not advocate.

Options.
1) Only conclusion (l11) follow

2) Only conclusion (1) and (I11) follow

3) Only conclusion (I1) and (1) follow
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4) Only conclusion (1) and (I1) follow

Correct Answer: Only conclusion (I) and (I11) follow

QID:36-

Options:
dor5

2)5
3) 4
4) 3

Correct Answer: 5

QID: 37-

Three positions of a cube are shown below. What

will come opposite to face containing '*'?

& U e & 1 aEuT SR T §1 %
I Woleh & TIUd T HTAa?

sl

T

+

Options:
11

2) %
3) +

4) &
Correct Answer: &

*

%

%
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QID: 38-

In the given figure, which number represents male
cricketers who are adults but are not tall?

& o ampfy A, Fla W 3E 0} gEw feke S
T AT TR ad . e ¥

Adults/

Options:
13

2) 2
3)8

4) 4

/rﬁhﬁ“ﬂ._ :
(" > - Cricketer/
1 —
[ TallferFar

Correct Answer: 2
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QID: 39-
In the given figure, which alphabet represents gel
pens which are not blue?

&I g HTPHIT H, P W HeW 0 AT U FAT Arer
e & P AT 82

Options:
1c

2)d
3)h

4 b
Correct Answer: ¢
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QID: 40-
In the given figure, which number represents steel
bottles which are caps?

&1 7% pfa A, FlF W HE 0 sTog aide St
2iftar € & getar &2

Bottles/ 1 A
aa 5 Steel/

g 12 \?\ adll o T
Cap/ardt —» 6~~~

Options:
1) 2

2) 4
3)3

4) 6
Correct Answer: 3
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QID: 41-
Which answer figure will complete the pattern in the
question figure?

e @ 3 FFa 9 APia & IEwT F @

Feaft?
pad| b
” 74
Options:
1)
2)
3)
4)
Correct Answer:
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QID: 42-

Which answer figure will complete the pattern in the

question figure?

FieT H 39T IF U IFfa & ufaww & @

HLM?

Options:

[
—

&

Pt
—t

\L

=8
—

N

=

4y

<
a
>
:

Y

7

?

NS

2
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QID: 43-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 39X i A ® 37 3 Hga & gEw
o & ux ampfa @fRT &

Options:
1)

[

I_I"\. L/

2)

3

S¥
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QID: 44-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& € I Hpaal # ¥ 39 39X Hga & gEw
o & uwy wpla BRa &

4
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Options:

1)

2)

3

\VA

Correct Answer:

%
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QID: 45-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

@ & Uy wpladl F Ramw yaar see &
HERT O YT Wied & 98 g% TFT 397 ATl

star g game

4 F

LN

/4
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Options:
1)

2

3

RIRIEIRIE

4)

Correct Answer
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QID: 46-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & U HPpad # W FgER Fee &
ASHT Bed T Weld & 915 g8 [FH 30T
ST s ame

o

O ptions:
1)

2)

Correct Answer: [ No Correct Answer |
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QID : 47 -
If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

ofg v gOUT Fr AB T@T U7 @1 Fm, & & a8
I Mpfaal # ¥ wle O gy wy wgfla &

7|
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Options:
1)

—t

2

3

L)

4

ot

Al BN 1A |

Correct Answer:

%
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QID: 48-
If a mirror is placed on the line AB, then which of the
answer figures is the night image of the given
figure?

afy v gdor & AB a1 W @ Am, &t & 9

IO Apaal # ® @l @ agfa uw sy
& ufafass anfr?

a
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Options:
1)

2)

3)

4)

| (W [N| [P

Correct Answer:

n

QID: 49-
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the allernatves are
represented by two dasses of alphabets as shown n the given two
matnices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from Sto 8. A letter from these malnces can
be represented first by its row and next by its column, for example, ‘D' can
be represented by 11, 42, eic, and 4" can be represented by 68, 99, elc
Similarty, you have to identify the set for the word “NOSE™

UE e PAE T WEA-HAF G0 guim wmm b S 5 Raedt & @
fredlt v & R o & Rwet & By v semweE dad & g ot
e guie aw E 3w & R oow @ amget & b g & e AR
afs &1 FEm 0 # 4 ¢ I W @15 8 91 59 HEgR & UF AR A
aga sah ofts 3R ag & woew TEw g gl = awan ) sEE
& fw D @ 11, 42, Wi orr @l S wwer & A T 68, 99,
wfe gt gy a1 wean B oot aRe & o un @& Ry weg “NOSE”
& fav @ & gpaeEn )

Matrix-1 Matrix-ll
e E1 e all
0[1[2[3][4 5[6[7]8[9
O|LIA|N|O|D SIE[TIC|P[S
1|O|D|LIA[N BIP|SIE|T|C
2 [A[N|O[D[L [ T|[T|C|P|S|E|
3(D[L[A[N[O] (B(S|E|T|C|P|
4[N[O[D|L[A A(C|PIS|E|]

Options:
1) 21, 10, 78, 98

2) 13, 22, 66, 56
3) 02, 34, 59, 68

4) 41, 42, 85, 86
Correct Answer: 21, 10, 78, 98
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QID: 50-

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altemabves are
represented by two dasses of alphabets as shown in the gven two
matnces. The columns and rows of Matrix-l are numbered from 0 o 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented frst by its row and next by its column, for example, 'S8’ can
be represented by 10, 34, etc.. and Y’ can be represented by 57, 95, elc.
Similarly, you have to identify the set for the word “PARK".

UF U FO UF HEA-HAR oW auim v ¥ S B Reedt & @
o v & e o &) Reedt & Ry s swmaey sewd & @ aoft
T g aw & 3 fF Ru oaw @ et @ & wegpd e iR
afth fr FEm 0 ¥ 4 & 3R amegedl 15 F 91 57 g A UF HeW W
uew IWh uft MR T & Few wEE g auin S AT 1 SEmA
& faw 8 @10, 34, wiie T guiar 51 &won & @ Y- @y 57, 95,
INfE GRT gutam S e &) ST Ww @ WO UM A Ze weg PARK'
& fow wop # gra §

Matrix-1 Matrix-1l
- eI
D]112[3[4 AEARAEIER

" O|P[T|A[S|E| 5| |K|[I|Y|C|R|

TIS[E|P[T|A (B|CIRIK|T[Y

2IT|A[S|E|F] (T[T [YICIR[K

(S|E|P|T|A|S| BIR[K[T|Y|C|

A A[S[E[P|T] (9| Y[C|R[K][]

Options:
1) 13, 14, 85, 55

2) 31, 02, 78, 98
3) 23, 22, 66, 67

4) 00, 40, 59, 78
Correct Answer: 31, 02, 78, 98
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